oooooon

aoao
0000 00000

No. 5:

0000 (OO0 o0oDbOoO0O0) oooooooo

ooooobogooooo

0oooo(@o)

00000: 000000 (Do) 0000 (DoooUooo)oooo
oo

e JOOO
e O OO

0000 (oooOoO ooooo)

godooobbgooodaoon

0ooooooon

o00o0O00oOoOooooooooooo
e 000 call by value
e 0OO0O call by name
e OO0 call by need
O0000000o0o0oooooooo (oo)
e 00O call by value
e 0 OO0O call by reference

@ ... call by value return

oboooog:

let foo
foo 20

Xy = X + x in
(3 + 5)

xO yOOOO (formal parameter)
200 3+5 0000 (actual parameter)

0000 (DO0OO0 o0Oo00)

OopDoooooo

000 (call by value):

let rec loop x = loop x in
let show x = print x;
let foo x y = x + x in
foo 20 (loop 10);
foo (show 10) 20;

foo..0000OO
e JO0UODOUDODUDLDOUODUILOUO(DODDODOON)

X in

oooooooo

0000 (0000 oOoooo) 5 /



ooooobooooooon goooobbgooodaoon

0000 (call by name):

let rec loop x = loop x in
let show x print x; x in
let foo xy =x + x in

foo 20 (loop 10);

foo (show 10) 20;

foo...0000O

e 00000000O0O0ONONO(00O0DD00O00000)00000
0o(@Oo0000o0o0o0)

o JOOUOUIDDDODODODDOUOOUULUUUUDLDDObOObODODOUUOUUOO

0000 (OO0 o0oDbOoO0O0) oooooooo

oodooobooogooon

oobodboboobboobboooboon
e 00O UDOOOODOO (lazy evaluation)
e J00DUDDOUODODUDOOODDOO (only once)

0000 (oooOoO ooooo) 0ooooooo

godad

0000 (call by need):

let rec loop x = loop x in
let show x print x; x in
let foo x y =x + x in
foo 20 (loop 10);
foo (show 10) 20;
foo...O0O0OO0O
e OO OUOOOOOONO ([][][]D aggo [I[IDI]) ooon
ooo
o IIIUOODDODUIIODODODLOUOOODLDDOUIOOODLOUOOOOOn

e JIUIUI200b000DbODUOU0DLOUOUDLOUOUUODDbDOOUDbDOO

OopDoooooo

000000000 300000000000D0O0DODOO (OO0 O00
O000)oo0ooooo

let rec loop x = loop x in
let show x = print x; x in
let foo x y = x + x in

foo 20 (loop 10);

foo (show 10) 20;

oooooooo

0000 (DO0DO0 o0Oo00)

0000 (0000 oOoooo)



oddooobbgooooobboooad

call by value | Lisp, Scheme, ML,...
call by name -
call by need Haskell

00000 (COob0oO0o0ooOoUoo0U)0booUboOoUooOooo
oboboobobooboooooboobobobo
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